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'
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④ : Pf An B) = PIA) PIBIA )
= 0.95  x  0.04

③ : PLA 'm B) = PCATPIBIAJ

= 0.05 x 0.75

Pf AIB ) =
Pl④L 0.95×0042 =  0.5oz

P(④)+p(③ )
=

0.95×0.041-0.05×0.75



Petchara Pattarakijwanich Lecture 3 01/02/2021

41 .

← - 9Gt .
 -

Y a

② I

③ AT ④ :
ahhh - an pretest

I

② ④
⇒ #

An B 95T

A B

A' I
y
E ③ : Matty;

" pretest /

www Isi
P ( AIB ) =

P - 75T - c- asf .  - o

P(④)tPC③) I Tf

PIAIB ) =
Pluto )

ptvaI



�������� ������������������������ 0.1% �����������������
���������������������� 99% (���� positive ��� negative)
����������������������������������� positive
�������������������������������������� ������������

Petchara Pattarakijwanich Lecture 3 01/02/2021

D=  108959 ND = Tinhorn

+ = positive ( wirra ) -  =  negative slwufrn )

P (D) = 0.001 ⇒ P ( ND ) = 0.999

Pftf D) = 0.99
, Pf - IND) = 0.99 [ Noonan )

Pf - ID) = 001
, P ft IND) = 001 ( Noooo )

False negative False positive

PCD It ) = ?
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Pin D) =p (D) Plt ID)
= 0.001 x 0.99

= 0.00099

D t

P ( th ND ) =P ( ND )P( t IND )

= 0.999 x 0.01 = 0.00999

Pf - ND ) = PID ) Pf - ID )

= 0.001×0.01 =  0.00001

Pf - AND ) = PIND ) PC - IND)
=  0.999×0.99 = 0.98901
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